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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

Symptoms of the illness include a high temperature and a(n) --------=- dry cough.

1) effective 2) persistent 3) respected 4) considerate

You can protect the floor with —--——--- sheets of newspaper if you want to paint the walls.
1) mediating 2) restricting 3) overlapping 4) approaching

Modern examples of this type of weaving for Persian carpets in the region show little
from traditional patterns.

1) deviation 2) relevance 3) application 4) permanence

The road ---------- the highway a mile from here — you can't miss the signs for it.

1) intersects 2) interferes 3) intervenes 4) intercepts

The love and support of his family ------=--- him during his time in prison and made him feel
less desperate there.

1) resolved 2) sustained 3) assumed 4) determined

Anita had a(n) ----===eun arrangement with her brother — each would take care of the other's
children if the need arose.

1) adjacent 2) coherent 3) analogous 4) reciprocal

Despite some doubts by the experts, the -=-------- of this painting to Rembrandt had never been
questioned.

1) attribution 2) simulation 3) association 4) specification

You had better not ——--—- the car unlocked in this area — not even for a minute.

1) left 2) leave 3) to leave 4) leaving

He is studying mathematics so as -—~------ -- for higher salary.

1) to qualify 2) qualifying 3) qualification 4) he qualifies

No sooner had he drunk the coffee --—---- --- he began to feel drowsy.

1) that 2) when 3) than 4) which

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

blank. Then mark your choice on your answer sheet.

11-
12-
13-
14-

15-

—= =

A person with poor self-esteem (11) ---------- a major struggle in work and relationships with other
people. If you put (12) =--------- value in yourself, others will not value you, (13) ---------- want to
be with you. For 1f you are self-centred and don't have any real concern for (14) ----------, you will
be, in fact, harmful to your community. And if a person has positive feelings (15) ---------- himself
they need to be balanced by a concern for other people.

1) facing 2) faces 3) is faced 4) that faces

1) some 2) a little 3) little 4) a great deal

1) or won't they 2) nor they will 3) or they won't 4) nor will they

1) the others 2) other's 3) others 4) the others'

1) of 2) by 3) with 4) about
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PART C: Fill in the blank with choose the best word or phrase.

16 A pump which operates on the principle of the venturi tube is - - - - - = -,

1) wventuri pump 2) reciprucating pump 3) jet pump 4) double acting pump

— — — RSy e gy ey Eeemw s s Emma EE——n ST IS S S S— S—

1)  boil 2) candense 3) freeze 4)

— . — — . ey e I oy . S i e e -

Part D: Reading Comprehension

Directions:Read carefuly the follwoing three passages and choose the best choice (1), (2), (3),

or (4). Then mark it on your answser sheet.

PASSAGE I:

The basic components of an internal-combustion engine are the engine block, cylinder head, cylinders, pistons, valves,
crankshaft, and camshaft. The lower part of the engine, called the engine block, houses the cylinders, pistons, and crankshaft.
The components of other engine systems bolt or attach to the engine block. The block is manufactured with internal

passageways for lubricants and coolants. Engine blocks are made of cast iron or aluminum alloy and formed with a set of

round cylinders.

The upper part of the engine is the clinder head. Bolted to the top of the block, it seals the tops of the cylinders.
Pistons compress air fuel against the clyinder head prior to ignition. The top of the piston forms the floor of the combustion
chamber, and a rod connects its bottom to the crankshaft. Lubricated bearings enable both ends of the connecting rod to
pivot, transferring the piston's vertical motion into the crankshaft’s rotational force, or torque. The piston’s motion rotates

the crankshaft at speeds ranging from about 600 to thousands of revolutions per minute (rpm), depending on how much

fuel is delivered to the cylinders.

Fuel vapor enters and exhaust gases leave the combustion chamber through openings in the cylinder head controlled by
valves. The typical engine valve is a metal shaft with a disk at one end fitted to block the opening. The other end of the
shaft is mechanically linked to a camshaft, a round rod with odd-shaped labes located insisde the engine block or in the

cylinder head. Inlet valves open to allow fuel to enter the combustion chambers. Outlet valves open to let exhaust gases

out.

18 . Which statement is true about paragraph 17
1) It lists the major components of car engine in general.
2) It discusses the manufacturing process of the engine block
3) It introduces the components of the lower part of an engine.

4) Engine components such as valves, pistons, and cylinders are cast iron.

e e e i S — e e — e S S — — — —
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19_. Which connector is a rotating one?

1) Bolt 2) Pivot 3) Rod 4) Seal

—— e — S — — — — — — | — | — | — —— | — | — D—

20 What does the underline ’its’ in paragraph 2 refer to?

1) Rod 2} Piston

3) Floor of the combustion chamber 4) Top of the combustion chamber

— s e S S S m— — — — — — — | — | — ———

21_ Which word in paragraph 3 is synonymous with 'passage’?

1) Enter 2) Exhaust 3) Opening 4) Valve

— — — — — | S E— E— e e —

PASSAGE II: SR

Central-heating systems, in which one centrally located heating unit is used to warm several rooms or an entire house,
were developed in the 1800s. A type of centralized heating, using hot water, was used to limited extent in Britain about 1816,

but the first successful central system, introduced in 1835, used warm air. This system subsequently came into extensive

use in the United States. Steam heating was developed about 1850.

Present-day central-heating systems provide heat from a central furnace for a single building or group of buildings. In
large systems, steam or hot water is usually employed to distribute the heat. Most dwellings are provided with central
heating, as are office buildings, hotels, and even groups of buildings, such as those in shopping malls. The term district

heating is applied to system in which a large number of buildings are supplied with steam from central boiler rooms operated
by a public utility.

22_ The term 'dwelling’ in paragraph 2 is closest in meaning to:

1) Building 2)  Hotel 3) Office 4) Home

PASSGE IIL

Fuel cells are electrochemical devices that combine hydrogen and oxygen in an electrolyte fluid (a solution of ions
that conducts an electric current), creating an electrical charge across a membrane. the reaction produces a steady flow of
electricity. The principle behind fuel cells was first discovered in 1829, nearly 50 years before the first internal-combustion

engine. Unlike most power plants, which use mechanically spinning generators, fuel cells have no moving parts.

The fuel-cell concept first attracted interest in the late 19th century, when a fuel cell, three times as efficient as American
-nventor. Thomas Edison’s best electric generator, was demonstrated. But the technology was expensive, and interest in the
concept withered. Advances in materials and electronics were necessary to make fuel cells useful and practical. In the 1960s
fuel cells captured the interest of the U.S. space program, which developed small, efficient fuel cells for use in spacecraft.

These orbiting fuel cells were expensive, but by the 1980s-in the wake of the 1970s oil shortages-they had again attracted

the interest of government researchers and investors.

Fuel cells are roughly twice as efficient as conventional engines in converting fuels to mechanical or electrical power. They
require little maintenacne, are nearly silent, and emit only water vapor. Along with the solar cell, some experts belive the

fuel cell could allow human civilization in the 21st century to step beyond the age of fire (combustion), which has provided
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the bulk of the world's energy for more than ten meillennia.

Unlike most power plants, where larger facilities were long associated with lower costs per unit of energy, fuel cells are
nearly as economical on a small scale as on a large one. Researchers are particularly interested in the proton-exchange-
membrane (PEM) fuelcell, a design that is now being studied as a potential motor vehicle engine, small-scale electricity
generator, and even as a power source for laptop computers. Ballard, a Canadian company that has investeed heavily in

PEM fuel cells, believes the cells can eventually produce electricity at less than $100 per kilowatt, undercutting modern

coal-fired power plants by a factor of five or more.

The first generation of fuel cells will likely obtain hydrogen from natural gas, which can be separated into hydrogen
and carbon dioxide when it is heated. But the longterm goal is to use hydrogen directly. Hydrogen is the most aboundant
element in the universe and is found on earth as a component of water. Hydrogen can be produced from water through

electrolysis, which involves splitting water molecules into oxygen and hydrogen by running an electric current between

submerged electrodes.

Electricity generated from renewable resources can produce hydrogen through electrolysis, but the process is expensive
using currently available technologies. Chemists recently developed a solar-powered *water splitter” that nearly doubles the
efficiency of converting solar energy to hydrogen. But the procedure is costly, using two different semiconductors. Finding
less-expensive semiconductors is one key to making the device economical. Some experts believe that the discovery of an

inexpensive efficient way to electrolyze water would make hydrogen-powered fuel cells the world’s dominant energy carrier

within a few years.

Unitl that occurs, natural gas could form a kind of bridge to a hydrogen-based energy system. Natural gas is more
abundant than oil, and it has been less heavily exploited, raising the prospect that it will be an important energy source
early in the next century. Because the system for transporting natural gas can also be used to carry hydrogen, a separate
system for hydrogen could be built up gradually. One approach would be to mix hydrogen with natural gas and carry the

fuels in the same pipelines, shifting later to new pipelines that are designed to carry pure hydrogen.
23 What does the underlined phrase in paragraph 1 mean?

1) The mechanical parts in fuel cells do not move. 2) The parts in a fuel cell are static.

3)  Fuel cells produce static electricity. 4)  Fuel cells produce chemical electricity.

24_ What are the important motives in developing the fuel cell technology?

1) Efficiency and oil shortage 2) Price and interest

3) Space program and government 4} Researchers and inventors

25_ Which concept is a little contradictory between paragraphs 2 and 37

1} Emission 2) Expenses 3) Fuel cell 4) Generator
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26._ What does the word 'millennia’ in paragraph 3 mean”

1) Centuries of years 2) Decades of years 3) Millions of years 4} Thousands of years

e p— — — T e— — — — — — — —

27. We can infer from paragraph 4 that:
1) Energy output increases with the size of the fuel cell
2)  Fuel cells have an inverse relationship with energy output
3) Power plants have a direct relationship with energy output

4) The larger the fuel cell, the smaller the amount of energy

—— — — S — S — E— S S E—— —— === === —

28_ What matters most for the first generation fuel cells?

1) Water 2) Natural gas 3) Hydrogen 4) Electrolysis

— e — S — —— — — — T — S — —— ==

29_ What does the word 'process’ in paragraph 6 refer to?

1) Renewing resources 2) Hydrogen production  3) Electricity generation 4)  Electrolysis

30_ Which statement is true about paragraph 77
1} There is an urgent need for radical changes in the transportation system
2) There is no urgent need for radical changes in the transportation system
3) The present pipeline networks can be readily used for hydrogen delivery

4) The present approach is to use the existing pipeline networks to transfer hydrogen.
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